Chapter 9

Exercise Set 9.1

Solve the given system of equations by graphing. Sketch the graph of each equation in the system on the same set of axes. Determine whether the system has a unique solution, no solution or infinitely many solutions. If it has a unique solution, estimate that solution from the graph and determine whether your estimate is correct. 
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Exercise Set 9.2

Solve the given system by substitution. 
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Solve the given system by elimination.
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Solve the given system using either substitution or elimination. 
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Solve the given system by graphing. Confirm your answer by solving the system analytically using either substitution or elimination. 
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